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578

)

2.6
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( )M=427, =031
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( )(M=475 D =0.53)
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(M = 439, $D = 0.39)
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4.38
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4.27
4.39
418
4.29
4.39
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4.28
4.60
4.85
4.75
474
4.83
4.78
4.67
484
4.76
4.49
455
4.53
4.55
447
451
453
451

4.52

(N = 303)

D

0.29
0.31
031
0.46
041
0.45
0.39
0.36
0.39
0.48
0.54
0.53
0.55
0.53
0.54
0.52
0.54
0.53
041
0.56
0.50
0.53
0.57
0.55
0.48
0.56
0.52

RY)
38

70

39
83
76
77

153

47
81
37
32
69
71
79
150
66
85
151
81
71
152
147
156
303
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3 )
7
7
- df F
A 1 78.26***
(B) 1 0.38
© 1 0.13
A X 1 0.21
BXC 1 0.68
AXC 1 12.05***
AXB XC 1 0.41
295 (0.21)
Mean Square error
***p < .001.
7
523, ]
12.05, P = .001]
295) = 0.683, P = .409, ]
[F(1,295) = 0.21, P = .644, ] (main effect)

[F(1,295) = 78.26, p< .001]

.000

.539

721

.644

.409

.001

.523

[F(11295) = 0.411P =

[F(1,295) =

[F(,
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51
[5(1,205) = 0.38, P = 539, ]

[5(1,295) =0.13, P = 721, ]

7
1
7
[5(1, 295) = 0.21, P = .644, | 1
2
{M) (SD)
8
(M= 4.27, SD = 0.31)
(M= 4.29, SD = 0.45)
8
(M) ()
M SD M SD
70 4.27 0.31 83 4.29 0.45

81 4.75 0.53 69 4.78 0.54



(Contrast)
[H1207) =001, ]
3
™M
8
(M=273  =o0m
475, =053
(Contrast)

(F(11297) =052, P = 471, |

;
[R1.205) = 1206, P =.001]
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(Miz.30, P=039)
(M=418 SD=039)

9
™

9
(Me48s, D=051
(M 267, D=0

()

D M

0 7 418

052 ® 484
(Cortass)

53

0.36
04

[F(1,297) =758,» <.01]

SY)

(Contrast)

[F(1,2097) =514, p <.05]



053)

(M=228 D-=039

[F(1,205) = 7826, » <.001]

o4

(M= 476, D=
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2 LowNar &Com> LonNar & Non-Com

3 H-Nar &Com ~ H-Nar & NonCom

a LonNar & Pos > LowNar & Neg

6 H-Nar &Pos ~ H-Ner & Neg

7. H-Nar > Lo-Nar

H-Nar
LonNar

LonNar & Com ~
Lon-Nar & Non-Com

H-Nar & Pos <
H-Nar & Neg
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